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1. eforft Farh (3fcree &) & D oo arelt Hocht $it N et § o gud B <t vgelt & @9 v @
s &, N/2 Sfeat €, adht gt 1 =@ 2D #)1 A wem & i givrar k & < gl {3 =6t giwran
———————=n

A helical spring has N turns of coil of diameter D, and a second spring made of same material,
has N/2 turns of coil of diameter 2D. If the stiffness of the first spring is k, then the stiffness of the
second spring is given by

(a) 4k (b)y 2k () k4 (d) k/8

9. fam- 19 gufe g fEm W)yt & o B egf N R afg w oiv Ut & wm B 51 geen #§ Sis
& Se, S Fom- 11§ fewmn mn g, ot emafa gt ?

For the spring mass system shown in the Figure |, the frequency of vibration is N. What will be
the frequency when one more similar spring is added in series as shown in Figure II?

k
k
k
x [ m b J,x
Fig. I Fig. I1
@ N2 (b) 2/N © N2 (d N

3. i gy U siER, Ui HG g @it o R wnae Gt B e & o (R it
pAcC o — )

The number of degrees of freedom of a five link plane mechanism with five revolute pairs as

shown in the figure is
%(@R
©)
5) 2

@ O by 2 () 7 @ 22
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4. ﬂ%ﬁqwf‘eﬂﬁ,mm(z)ﬁmww,wﬁﬁxqa‘Bwﬁgﬁmﬁﬁwnmﬁéluﬁmm
ST (3) W g g faea i e S @
In the diagram shown below, material A and B expand freely as shown in condition (2). If
expansion is prevented to reach equilibrium condition (3), then
Material A ,
! 1iinitial position
4 Material B | -
1 L
l t
I 2) Free expansion
= due to temperature
3) Expansion prevented
for equilibrium
(a) vere B g qerd A TR STell A1 O 9, A G B WX STt T a7 o & @uH & / Tensile force
exerted by material B on A is equal to tensile force exerted by Aon B
(b) uerd B g uerd A T St T dfiesh s, A g B T STe 7T TYies o % G & / Tensile
force exerted by material B on A is equal to compressive force exerted by A on B
(c) wﬁBmwﬁAmmwﬁtﬁwaﬂ,AmBmm@mmw%W% /
Compressive force exerted by material B on A is equal to tensile force exerted by A on B
d) T e § affiy TR W s s@ g9 el stedr / No force acts on the composite
member in equilibrium condition
5. fyefafiag T § @ S9-91 919 Ted 2 7
Which of the following statements is wrong?
(a) §aET % @R gd ©d @ § e o Siq gt @ / The heat transfer in liquid and gases
takes place according to convection
b) Rt fiie & wom ware < ann, fie fom vt & o g, 39 W fft 2t & / The amount of heat
flow through a body is dependent upon the material of the body
() QEOHH % sgd ¥ 3 O1g i dTdg STerhdl 96 St &/ The thermal conductivity of solid
metals increases with rise in temperature
(d) TR WIS QIOAM S S, AT WIS QA o ¥ guM =& g1 / Logarithmic mean
temperature difference is not equal to the arithmetic mean temperature difference
TA-01 4 March 2020
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6. o # fou 7w few= (Ifshet) o1 9R ‘m’ 8 St g k areft T8 < geg 2, sen {6 o & fowmn mn 2
fewen form iRt waelia Tag W A9 g 31 59 omelt & o < wmTiesh st 2l

A disc of mass ‘m’ is attached to a spring of stiffness k as shown in the figure. The disc rolls without
slipping on a horizontal surface. The natural frequency of vibration of the system is given by

VPRIl aigiais

VO PP PP PP e ey P I P s o

i }_"' (b) i E‘Fi (c) _1_ /2_]3 (d) 1 B_k
2 \m 2r A\ m 27 \3m 27\ 2m

7. fFe=fafa ufsen # @ fre @ s yarg St gefisor oy gar 27

The steady flow energy equation is applied to which of the following processes?
(a)  UT3Y «Ted YaTE / Pipe line flows (b) AT YT UiskaT / Heat transfer process

() <& uisar / Combustion process (d) S @t / All of the above

(a)

8. A |4x -7 =5 7 Y| - |- x| 1 AW FME?

If |[4x — 7| = 5, then the value of 2x| - |- ] is,
1 1 2 1 2
(a) 2,5 (b) "2‘,3 (c) B (d) 5,3
9.  Sioed W & AR, T4l & fHor 1 i g™ % 99 3|

According to Dalton’s law, the total pressure of the mixture of gases is equal to
(a) =ft & a1k 2@ © =1fY= / Greater of the partial pressures of all

() @t < 3if¥Es g %1 3w / Average of the partial pressures of all
(¢)  =°fi = o7if3k <@ 1 AW / Sum of the partial pressures of all
@ =ft & Nifdes T & 9 o oftga fSrmet snfvas wr @ fRw T W / Sum of the partial

pressures of all divided by average molecular weight

TA-01 5 March 2020
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10.  wrgmmfes = H, ndar gl g Sig S 2l

In a psychrometric chart, the humidification process is represented by

(a) SR @ / Vertical line (b) a W@ / Inclined line

()  @waet™ W@ / Horizontal line (d) % @ / Curved line

11.  fF=fafea § 9 7 fam-ga 87

I Which of the following is dimensionless?
A
(a) fafste wm / Specific weight () fafsre nfa / Specific speed
(c) fafire e / Specific gravity (d) Tafire s / Specific volume

12. fi=faRea geai § & 7 waqa fred aaae Y& & §HH 8 7

In which of the following views, the picture plane is the same as the plane of projection?

(a) Tl gv@ / Oblique view (b) weehIvig g¥F / Orthographic view
(c)  @gy g¥a / Perspective view (d) = gea / Pictorial view

13.  fm= # & Si-m 9w g9 % foe suge 7
Which of the following statements is applicable to liquids?
(a) =a =l gdifea 7€ fmam s wekat / Liquids cannot be compressed

(b) I W Iaq i@ &1 8 / Liquids occupy definite volume

() Td W T U qUEHE A YREd T his 99T T8l gsar / Liquids are not affected by change in
pressure and temperature

(d) = @ =S T8 / None of the above

14. Tr=fafaa § @ -t agehe ag o1 wfias % &9 § IR Hd 87
Which of the following cycle uses air as the refrigerant?
(a) e / Carnot (b) wffm / Sterling

(¢  Uf@a /Ericsson (d) w@-iaia / Bell - Coleman

TA-01 6 March 2020
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15.  <hiad | ug || Y 7Ef 1 3 i
Match the items in column | and Il

shic® / Column | e / Column Il
P. <rdl w{igor / Charpy Test 1. atar / Fluidity
Q. 9 w{igor / Knoop test 2. gEH-H3QT /Microhardness
R. wrsta qdigor / Spiral test 3. ot / Formability
S. @i wftgmr / Cupping Test 4.  gedr/ Toughness

5. 9=l / Permeability

P Q R S
@ 4 5 3 2
® 3 5 1 4
©@ 2 4 3 5
@ 4 2 1 3
16.  afe u 9w Fe-C fisreng o sl ot 461 0.83% & %9 8 AF 98 Hgardt 2

If a particular Fe-C alloy contains less than 0.83% carbon, it is called
(a) 3= 7fd 389 / High speed steel

(b)  om: gedeiss $¥ / Hypo-eutectoid steel
(c) fa-I¢wIen gwra / Hyper-eutectoid steel
(d) gwai siEr / Cast iron

17. fmfsa fis %1 38 fog, @ w53 =1 afomft g 1 = HgeTdl gl

The point in the immersed body through which the resultant pressure of the liquid may be taken
to act is known as

(a) o™ g / Metacentre

(b) T g / Centre of pressure
()  3caTeEhal g / Centre of buoyancy

(d) TS g / Centre of gravity

TA-01 T March 2020
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18. = # & forad wmm foamn 7€ 27
Which of the following do not have identical dimensions?
(a)  HaT U IET / Momentum and impulse

(b) < T 3Tl uF v Ham / Moment of a force and angular momentum
(c)  Tifast St ud fawa St / Kinetic energy and potential energy
(d) =« et wd e / Torque and energy

19.  HIFET H USSR H FH 2l
The purpose of riser in casting is to

(a) S W H ITET T W e 1 90 T / Feed the castmg at a rate consistent with the
rate of solidification

(b) et urg 3 fow wew w1 %@ w0 / Act as reservoir for molten metal
(c)  SHA O ehITEeT % WU T Hergar sl / Help feed the casting until solidification takes place
(d) &9 ¥ e fueeh a1g % w0 w1 / Feed molten metal from pouring base to gate

20.  SIfFE 5,000 F. T AT & 37 39 &9 H 500 . 1 FeT A Wieq 10 Rl § o9 F W FEHA Bl
% Rl , yes e o fea @ 10 & %9 31 wuw: el it sifom frm fraet gnft ?

Abhinav borrows Rs. 5000/~ and agrees to repay with total interest of Rs. 500 in 10 installments,
each installment being less than the preceding installment by Rs. 10/-. What should be the first
and the last installment respectively?

(a) 505, 415 (b) 500, 410
(c) 525, 435 (d) 300, 210
21. gl I Hag T Y A 2
The escape velocity on the surface of the earth is
(a) 1 km/sec (b) 3.6 km/sec
(c) 8.8 km/sec (d) 11.2 km/sec
22.  wvii feamedl o guE Yo U B aTen wer FHEar 2l
Materials having same elastic properties in all directions are called
(a) ey 9qre / Ideal materials (b) uW werd / Uniform materials
(c)  Tmafirk ugred / Isotropic materials (d) g ygrd / Orthotropic materials

TA-01 8 March 2020
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23.  WH.3ME.(SI) Ife H ygnfas v & g 2l

Unit of kinematic viscosity in Sl units is

(@)  Ns/m (b) Ns/m?

(€0  m?sec (d) Ns’/m

24, Tt % wh R T desh my IR m, % WR areft g @l B B et wag W g 7, S fe e d
<gifam T B1 A A W m, W R g R e e e i qeren enen sie et L srgama
m,
T B ?

A mass m,, hanging at the end of a string moves a mass m, along the surface of a smooth table
as shown in fig. If mass m; on the table is doubled, tension in the string is increased by one-half.

Find the ratio of 24
me

ma
mi
(a) 2 ®) 1 © 12 (d) 4
25.  2TETET 600 kW T IcUTeT AT & 3R STt amar 40% & @t Ay faga B
The output of a turbine is 600 kW and efficiency is 40%. The input power is
(a) 1200 kW (b) 1500 kw
(c) 1800 kW (d) 2100 kw

26.  uw oA it GfET 80.5° & 3T 70° & 90° Y wraw T0 A SR 936 H -0.25° 1 GUR 3| T q9HE
foram 87

A thermometer reads 80.5°C and the correction from calibration curve is -0.25°C in the
measurement range 70°C to 90°C. What is the true value of the temperature?

(a) 80.75°C (b) 80.50°C
(c)  80.25°C (d) 89.75°C

TA-01 9 . March 2020
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27. oo # & fora g & w1y Ugier & foure st gom od gy stiaed wen fuffa 6t st 27

Octane number is determined by comparing the performance of the petrol with which of the
following hydrocarbon(s):

(a) ¥m-3iaeA /Iso-octane

(b) Ao fuEe A9 / Alpha methyl naphthalene

(c)  EH-3iFe UH WA g H1 s / Mixture of iso-octane and normal heptane
(d) Yufter wg witfesm s Mz / Mixture of paraffin and aromatics

28. s fig & fom an nfeefierar @ fed & vl 6t il gt 8l

The tendency of a body to resist change from rest or motion is known as
(a) =1 / Friction (b) & /Inertia

(¢) g=mWE /Mass (d) wfadh s / Resisting force

29. e 1 whEw W & forg frfafee § @ fea fafr 1 swam =& foran s e

Which of the following methods is not used for testing straightness?
(a) foufe ww faft / Spirit level method

(b)  =afeeRtor f&ftr / Interference method
(c) T=a: gHWie / Autocollimator
(d) sfw gaf= / Beam comparator

30. Fr=fafge & & s arogsfiad &t seva 7 27

Which of the following is not the objective of annealing?

(a)  oTiaith fderer i Fepem / Remove internal stresses
(b) U T ATHR H qRETNIG FET / Refine grain size
()  GTEAT I URAT / Refine structure

(@  wefift-&mar s gurET / Improve machinability

TA-01 10 March 2020
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31.  9fz 3/32 = 2% @ x % °H T qdr T
Find the value of ¥, if '{/3_2 = 2%
(a) x=3/5 (b) x=5/3 (c) x=2/3 (d x=1/2

32. o i quie e smun, ww fufaet, fmeht G ¢ # it vr 'm’ 7, & = o UE ar S 31 Ak et
1 AR Y geh R fen e o b s < gl TR e o ave, faerst @ A &

A cord is wrapped around a cylinder of radius ‘r' and mass ‘m’' as shown in the figure. If the
cylinder is released from rest, the velocity of the cylinder, after it has moved through a distance
‘h" will be

(@ (gh)™ (b) (ghr3)"? (€) (4gh/3)*? d (2gh)™?

33. e % fawerar #1 figia Frefefaa & & fom v o aqrel & fog 3ug® 27
Guest’s Theory of failure is applicable to which of the following type of material?
(a) @ /Ductile (b) WX / Brittle

(¢) werEy /Elastic (d) vef=es / Plastic

34. o # ovfu u ogER, 1 m ot W@l @ deh 5 . w9 arg % 9 0.5 R, Wi aredt et
Tl STt B el @ ST 320 cm S0 38 SIAT 21 S Sl @ ared! Mt s oaf @ 2t

o

(&l g = 10 m/sec?)

A bullet weighing 0.5 kg was fired horizontally into a sand bag weighing 5 kg suspended on a
rope of 1 m long as shown in fig. It was found that the bag with the bullet embedded in it
swung to a height of 320 cm. The speed of the bullet as it entered the bag is

(Take g = 10 m/sec?)

(a) 88 mi/sec (b) 44 m/sec (¢) 176 m/sec (d) 22 m/sec

TA-01 11 March 2020
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35. AR g8 A1 3EaT 1.5 x 10° mm® 21 af¢ x, y 3 z feame® # wfaser 99 100 Mpa, 150 Mpa
#R 160 Mpa & @ 3TFae § =1 gfed gl (W@t desh migerd K = 2 x 10° N/mm? and 9iae 31qurd
M =0.3)
A rectangular bar has a volume of 1.5 x 10° mm?®. What is the change in volume, if stresses in x,

y and z direction are 100 Mpa, 150 Mpa and 160 Mpa respectively. (Assume Bulk Modulus
K = 2 x 10° N/mm? and Poisson’s ratio p = 0.3)

(a) 2000 mm?® (b) 1500 mm?® (¢) 1230 mm?® (d) 1000 mm?®

36.  Afg gfa|A (Poisson) % T4 1 A Y[ & al sqe a1 & o5
If the value of Poisson’s ratio is zero, then it means that
(a) et gg ¥ / the material is rigid
(b)  ugre quid: wATiess 2 / the material is perfectly plastic
(c) v W aced faspfa 7€ 8 / there is no longitudinal strain in the material
(d) 37 9 =S 78 / None of the above

37. TAM SYEY FHE A WSl (hietiar) st ekt derg L # ofit st ggar El R, i w ufd i
TS TS At YR 8 99F ®9 8 wiitd fomm w21 sfim o stfteman Seafor fagg —— @)

A cantilever beam of length L with uniform cross-section and flexural rigidity, El, is loaded
uniformly by a vertical load, w per unit length. The maximum vertical deflection of the beam is

given by
(@)  wLY8El (b)  wL*4El (¢) — wL*/16El (d)  wL*/24El
38.  ITIUEY 3Ig-HWUI W NG IHIATHR ITIE HIS o S(H T ST Yicered ol g ——— B

Shear stress distribution diagram of a beam of rectangular cross-section, subjected to transverse
loading is given by

(a)

(b)

(c) ' (d)
TA-01 12 March 2020
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39. b3 = fewmed SR # iy H T § T # 3w ——————— §

The objective(s) of considering ergonomics in machine design is/are to

1. ifoe ufderet =i we™ & f&W / Decrease physical stresses

2. AR i 9 3Ee sHH o T / Make the user adapt to the machine
3. ™A A SR % g S @ g / Make machine fit to the user

4. 3@ i fe@mae = gurd % U/ Improve appearance of the product

(a) aw 2 /only2 (b) 3T 4 /3and4
© 1wW@3/1and3 (d 1,34 /1,3and4
40. I % Segcd Iyl 3N HfT e F AR TE H FHE GG AT S H AT ————— il 8

Ratio of moment of inertia of a circle and that of a square having same area about the centroidal
axis is given by

53 3
@ = ® =
@ . & @ -
wT /A

41. AR 3<X<53N8Y <11 @ FrferRad foses # & @ W&l 87
If3<X<5and8=<Y s 11, then which of the following options is true

3 X 8 3 X 5
o it L
@ 5<7¥<% ® 7=y =3
(C) igégﬁ (d) égﬁii
11 Y 5 5 Y 11

42. o UESt U Wfedt /A B aE § verfeesh steee s e R S @ aa seen e ufoere ddte |
T2 STaT € 3R faelma: ot ag uea 2| sHe I8 IR ——— e

When a specimen is first plastically strained in tension, its yield stress in compression is reduced
and vice versa. This behaviour is known as

(a) ¥R yaE / Bauschinger effect (b) arHl YMTE / Poisson’s effect
(¢) @ gl / Work hardening (d) ufderet g4 WIfd / Stress recovery

TA-01 13 March 2020
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43. R froan ot Memsr fowm v 9 % @y fmn fR O 9t 31 guie o R & P fig w3 w5 afom
— %I

A circular disc of Radius R rolls without slipping at a velocity v. the magnitude of the velocity at
point P as shown in fig is

1

77 RI7777FT777 77777 7
1
1

@ Bu ®) V3 (v/2)
© (/2 @ (20/43)
44. 399 99 ° STOHNE A w1 oo —— @)

Scavenging air in diesel engine means

(a) fferst =1 sfiafaa #@ ¥ Yeferd ag / Forced air for cooling cylinder
(b)  S&T % IeUG g &9 91 / Bumnt air containing products of combustion
(¢)  Tosshrem i sraftr & g, 3o o fGfret & o A i weqeh et fsren 3g 3w A T 9y

/ Air used for forcing burnt gases out of engine’s cylinder during the exhaust period
(d) < ¥ & 8g 3w il T GG / Air used for combustion under pressure

45. Vel % HgH A ¥, AT | sgend g fm, 1 R e % arsfeor ¥ srewifya s ———
Fgardl 3l

The amount of heat absorbed to evaporate 1 kg of water from its saturation temperature, without
change of temperature, is called as

(a) S Sl T F / Sensible heat of water

(b) =i <t TH FEAT / Latent heat of vaporisation
(c) =4 K wAeh (qui-=) / Enthalpy of steam

(d)  amq i T2t / Entropy of steam

TA-01 14 March 2020
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46. =il g8 forge # u safth 1 STHY ISW 39 Afh % ———— o WY i ST qHa e a9 4§
%9 gl 8l
The apparent weight of a man in moving lift is less than his real weight when he is going down
with
(@) T@EW T / Uniform speed (b) RO / An acceleration

(¢) = @am / Some linear momentum  (d) H&d / Retardation

47. faafmar ¥, — =i a3 a1 9fEw F st fafa R ST TR 2

In an isolated system ————— can be transferred between the system and the surroundings:

(a) & W 3T / Neither mass nor energy
(b) W 3T = gHi / Both mass and energy

() el W / Only mass

(d) e = / Only energy

48. 2N YR ITel UF s6iie 1 m Y Furs A T S F SR F FW KT 81 Afg 39 91 H faum wan 7
I8 T8 0.1 m o gfifea & wmar & o f&m =1 fers ——— g

A block of weight 2N falls from a height of 1 m on the top of a spring. If the spring gets
compressed by 0.1 m to bring the weight momentarily to rest, then the spring constant would be:

(a) 50 N/m (b) 100 N/m (¢) 200 N/m (d) 400 N/m

49.  af2 W % FRO a4 gC fREf AR A e g & S @ @ @ & e 2 S|

If the radius of wire stretched by a load is doubled, then its Young's module will
() g / Double

(b)  =rTfe@ @M / Remain unaffected

(¢) =W AT & Smwm / Become four times

(d wH-=Ner$ g Smem / Become one-fourth
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50.  FEfi-l e FEA-Il % wne A R e g & AR fiw o et I w gyl s )

Match List-I with List-1l and select the correct answer using the codes given below the lists

List-l List-ll
(A) =ik 1l FfisHT / Mechanical work equation 1, FeTTfirg aeiii / Clausius-Clapeyron
(B) [dait <o 2. i@ wHishtn / Gibb’s equation
(C) it f49m/ Zeroth Law 3. 3= Avft St / High Grade energy
(D) H-Ts 4. 99 = Fhea1 / Concept of temperature
A B C D
(a) 1 3 2 4
(b) 3 1 2 4
(c) 4 2 3 1
@ 3 1 4 2
51. i &
log,| —— | % =M = a1 emd
Og7[343J
Calculate the value of logv(—l—J
343
(@) -3 m # () -7 (d O
52. %—W%W%W,ﬁ?ﬁ%mﬁwﬁwm%,sﬁ FEAT i
ATt =M T HE et @

According to Kelvin-Planck statement, it is impossible to construct a device operating on a cycle
which transfers heat from

(a) I TNE % FON WeR ¥ T AWM Wew 9% / High temperature heat reservoir to low
temperature reservoir

(b) 3= T A FN WER F I @ AT I WeR a% / High pressure heat reservoir to low
pressure heat reservoir

() T @ a1t ST ER ¥ I g el I WeR 9% / Low pressure heat reservoir to high
pressure heat reservoir

(d) 7 qUEE % ST WeR | 39 999 S HeR 9% / Low temperature heat reservoir to high

temperature heat reservoir
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53.  Tene it fa & g firgia T i 2|

The motion of rocket is based on the principle of conservation of

(a) Ias @am / Linear momentum (b)  <hIvfig AT / Angular momentum

(c) s =1t / Kinetic energy () g=EE / Mass
54. CPM 2l

CPMis

() @EAATE! g / Time oriented technique
(b) -3 TekHish / Event oriented technique
(c) EgE a&eh / Activity oriented technique
(d) wEA=IE g / Target oriented technique

55. TEUd % SaagIih W % oigEn, wa.ed. (Sl) Ifie § IEeht F3rar (HB) dun a g (TS) # Heidl &
S ——

As a rule of thumb for most steels, the hardness (HB) & tensile strength (TS), in Sl units, is
correlated as

(a) TS=3.45xHB (b) TS =500xHB
(c) TS=225xHB (d) TS=475xHB

56. fauu fm & wRrafad vek § wh foig w wfowe Al g T8 31 SR, 0x = 200 MPa , oy = 100
MPa , 1y = 100 MPa 319%9u Sfderet 1 Afeshdd 99 B

The state of stress at a point in a stressed element is shown in the figure. Given that ,
ox = 200 MPa , oy = 100 MPa , txy = 100 MPa, the value of maximum shear stress will be,

1
o oo

<T

Oy

(a) 2545 MPa (b) 5045 Mpa
(¢ 10045 MPa (d) 20045 MPa
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58.

59.

60.
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afe & % Ay (o) frger & @t “a” 1 79 @ Ay

i n

Find the values of “a”, if the given matrix is singular

a -1 -3
3 2 3
2 1 2
(@ -3 (b) +3
(©) 2 (d) -3/2

ATehel 9§, S TR (SEY) T G B SR & o i v

In a centrifugal pump, when the impeller speed is doubled, head developed becomes

CEASIGIR

(a)  1.414 7 /times (b) 1.57T /times
(c) 27T /times (d) 47 /times
TE A A |

Select the correct statement:

() T 9 SN FqE G A 1 I A8 ) G FEerdt 2/ Weber's number is the ratio of

gravity force to surface tension force

(b) IS WA I HeAg A A BT U e Y T Faem & / Weber's number is the ratio of
inertia force to surface tension force

(c) YA I 3R g T FT ITIIT Ao h G Fadt 2/ Weber's number is the ratio of
viscous force to pressure force

(d) SISt T AR AR TR T HI IFFATE I HY T Feeldt &/ Weber's number is the ratio

of inertia force to surface elastic force

TH T 3 ek IoTe W U R Fr o O ve o ) s R 27

In simultaneous throw of two coins, the probability of getting one head and one tail is
(a) 1/4 (b) 1/3

(0 112 (d) 273

18
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5. gft TEqIE TR % gl % wAE 37 B wE I % O i @i, I T Wy iR Ted I ok oY Uk o
Frer S| et v & forw UeR @ 3tieres 3w 31 Terd I AT S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.
6. wx gfeeRt Y gfef it I % fm w A 1 B @1 € @1 D fafga fFen man 2, f@ eft.um.om. ofie w, < o
o qu s e e R W@ T F9 W, ST F1 qodied Tal R S|

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

gIETeRT H SUTeH SR el AETAHAT h TR Fe I h (¢ ST fFar S wewar 71 erT | Wi Aol & S|

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. suftufy ¥ W gwaER w0 ¥ veel, whenef wt sufealy wfie w yfer wie g g whereff &t s am % A
2 FEIER F gl

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. ufien ¥ ai A (1) B Rwwn fifew wE F Fa et (2) T LI IW e Frllew w w9 3 ae
el off aRfRaf  oreff 5@ 7 & W)

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer

Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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